THF2ASFHEBRMBEI R

¥ 1—1~1—10EHE 1 REOERKE. 2—1~2—16IEFE2RBEOERKETY,
(1—=1~1-10.2—1~2—16[FREDIHRMNFST. ZHBAROLEEEEFES LITENFET,)
X ZRHEE1-1EZELTCVDVENAIR, B8 - HEEEBIHT LZTohFEL A,
X ERHETF2-1~2—-16[FRAZHBBNERLTHLRELTTIL,
X HRBIELIE RETERNRAE FZRFTERSDRBELERT H0EETYT .
FOo 1-1~1—10FETHOERARTLEAZ. REMERDBAETEZ T TTEL,
(RE2HAEBROEE AR TE0R-304 . 45U ENAKTS . )
B 0 1-1~1-10.2—1~2—16ETHOERART LA, ZHRAZRDBAETEZ (T TTEL,
(R A—TORBZHHABRDOESFAERTOSM (BMIEASAMERE) 507, 00 R LU EAEHKTT . )

A—RBURSAEV G RY—)L

o MRAEHEAELTVVEVAF. ARKICEEEANTEWTIZEV GH . SIRATERD 1R ITEHLED-O
HEgE E2FonG0nGEER"HYET,

X 2R 2—-1(IHEE(ER -EK2) &EtvbhTT,

X ICAMELE (FRHE 2—2, 23, 2—4)E. REFRABEREZ. FTHETTHLTIZEL,

X RN ELEEZZETIXMDOAIR ARUEFRL, BIIBEATTIW, =, A -UvT V) —LEEZEZLTTIL,

FFIR 1 2 3 4 5 6 7 8 9 10
= 08:40 | 09:40 | 10:40 | 11:40 | 13:20 | 14:20 | 15:20 | 16:20 | 17:20 | 18:20 BRI (REFH) X
1| K MRBE| 2—9 | 2—10 | ABRK | B | 1-1 i
2 | & 2—11 | 2—12 BE | 1-10 1-8 | 1-9 |ETHES:40) UE)
3| x 1-2 1—-3 1—4 | 2—13 | 2—14 | 2—15 | 2—16 18BF10 T| 2R KR E (8:40) | H
a | B | A | SRR | 11 1-5 | 1—-6 | 1—7 BB RHE| 18w i01T ;Li
5 | A 2-5 | 2-6 BE| 1-8 | 1-9 1-10 ETRE®B 40| 7
6 | X 2—-7 | 2—-8 MEREl 1—2 | 1-83 | 1-4 ZEBRTE (8:40) g
7| K E ® =] ]
E: SRR bt | ot | 1—1 2-9 | 2—10 1
o | & 1-5 | 1-6 | 1-7 | B % 2—11 | 2—12 |HRAE & THRE (8:40) *é
10| 2—13 | 2—14 | 2—-15 | 2—16 | 1—8 1-9 [ 1—10 18EFI0RT| ZEERIRTE (8:40) | =
11| B | Mg |28 | 1-1 | 2-5 | 2-6 | 2-7 | 2-8 188108 T i
12| A 1-2 | 1-3 | 1-4 | B % 18108 7| 15 T 127 (8:40) g
13| K HEBEl 2—9 | 2—10 2—11 | 2—12 | EXKRE(8:40)| H
14 | K E K H 2
15| K MERME| 2-5 | 2—6 | At | @ | 1-1 ff
16| & 2-7 | 2-8 BEN 17 175 | 16 |BTREB:40)| B
17| £ 1-8 | 1—9 | 1—-10| 2—-9 | 2—10 | 2—11 | 2—12 18EFI0 T| ZARIRTE (8:40) |
18| B | Akt | B0 | 11 1—2 | 1-3 | 1-4 B B S| 181017 °
19| A 2-13 | 2—14 B2l 1-5 | 1-6 1-7 ETH#RE(8:40)
20| X 2—15 | 2—16 ShERAIE 18EH0#8T| 22 EARTE (8:40)
21| %k E *® H
22| K PERBE A= | @& | 11 2—5 | 2—6
23| ¢ 1-2 | 1-3 | 1-4 | B % 2—7 | 2—8 |%HERBIE|18HI0&T| 15T #RE(8:40)
24| = 2—9 | 2—10| 2—11 | 2—12 | 1-5 1—6 1—7 18FF 10 T| ZXEHRTE (8:40)
25| B | A=t |2t | 1-1 | 2-18 | 2-14|2-15|2-16 | & & 18810 T 5 T #7E (12:40)
26 | A 1-8 | 1—9 | 1—10 2-5 | 2—6 2—-7 | 2—8
27 | X HERBIE ZFEIRTE (8:40)
28 | kK E *® H
29 | K DRBAEl 2—-13 | 2—14 | ARK | & K | 1—1
30
31




